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SECTION A

· Rationalize the denominator and simplify.						(4mks)

3√2  -  5√11
4√15 -  2√7












· Two spheres have surface areas of 36cm2 and 49cm2 respectively. If the volume of the smaller sphere is 20.2cm3, calculate the volume of the larger one.			(3mks)













· Find possible values of x if 9x2 = 272x + 12							(4mks)






· Use logarithm tables to evaluate								(4mks)

4     4 – 462 x 0.038
                 0.82













· Using the quadratic formula solve for x. Giving your answer correct to 2 d.p.		(3mks)

2x2 + x – 12 = 0













· A man walks 5 km on a bearing of 3150 from a point A and then walks due south to a point B which is 8km from A. Calculate the bearing of B from A.				(4mks)











· Factorize the following expressions.

a) 4x2 – 6xy + 4xz + 6yz									(2mks)










b) 64k2 – 49m2										(2mks)










· In triangle OAB, OA=a, OB=b and P lies on AB such that AP=PB is 3:5. Find in terms of a and b vectors;

i) AB											(1mk)




ii) AP											(1mk)




iii) BP											(1mk)




iv) OP											(2mks)



· Without using mathematical tales or a calculator, evaluate.				(4mks)

0.7 X 0.25 X √90.25
     115 X 0.0133










· An arc of a circle of radius 4cm is 5cm long. Calculate the angle subtended by the arc at the centre:

a) In radians										(2mks)






b) In degrees										(2mks)





·  The equation of a line is -3/5x + 3y = 6. Find the;

a) Gradient of the line									(1mk)





b) Equation of a line passing through point (1, 2) and perpendicular to the given line.	(3mks)







· If a =   2   and b   4  find;									(3mks)
	      3               5

7/8 ( 3a + 1/4b












· Using squares, square root and reciprocal tables only. Evaluate.				(3mks)

     1       +  3 √0.2932
0.2349












· The angle of elevation of the top of a cliff from point P is 450. From point Q which is 10m from P towards the foot of the cliff, the angle of elevation is 480. Calculate the height of the cliff.											(4mks)











· Simplify											(4mks)

16x2y6√18x8y4
    8x3y2√xy














· By correcting each number to one significant figure, approximate the value of 788 x 0.006. Hence the percentage error arising from this approximation.				(3mks)












· Mwangi and Otieno live 40km apart. Mwangi starts from his home at 7.30 am and cyles towards Otieno’s house at 16km/h. Otieno starts from his home at 8.00 am and cyles at 8km/h towards Mwangi’s. At what time do they meet?				(4mks)











SECTION B

· The frequency distribution below represents the number of kilograms of meat sold in a butchery.

	Mass in Kg
	1-5
	6-10
	11-15
	16-20
	21-25
	26-30
	31-35

	Frequency
	2
	3
	6
	8
	3
	2
	1



a) State the modal class.									(1mk)




b) Calculate the mean mass.								(5mks)




















c) Calculate the median mass.								(4mks)











· Represent on graph the region which satisfies the four inequalities;			(6mks)

y≥-1, y≤x-1, y≤-x+9, and y+12≥





Determine the area of the region.								(2mks)




· Find the common area between the two intersecting circles in the figure below. The circles with centre O1 and O2 have radii 18cm and 12cm respectively and the cord AB is 18cm long.												       (10mks)











































· Draw the graph of the function y=2x2 + 6x – 5 by taking the integral values of x in -4≤x≤3.													(4mks)



b) Use the graph to solve the following equations;

i) 2x2+6x -5=0										(2mks)






ii) 2x2-x-6=0										(2mks)	 
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